
NOMENCLATURE
PAGE 1

MODELE. JS3201

REPERECODE DESIGNATION QTE NOTE

001 266056-5 VIS 5x45   4
002 141795-7 CARTER D'ENGRENAGE CPL   1
003 253759-0 RONDELLE PLATE 12   1
004 331166-8 MANIVELLE          JS32   1
005 212252-3 ROULEMENT AIGUILLES 1816   1
006 253198-4 RONDELLE PLATE 18   1
007 153141-2 ENGRENAGE          JS32   1
008 253311-4 RONDEL.PLATE M10 (17312)   1
009 ********** ****************************** *** ******************************
010 141796-5 COUVERCLE CARTER ENGRENAGE CPL   1
011 211031-6 ROULEMENT A BILLES 608LLB   1
012 240094-5 VENTILATEUR 70   1
013 513859-1 INDUIT CPL JN3201   1

INC. 11,12,14,15
014 681644-1 ISOLATION   1
015 210029-0 ROULEMENT A BILLE 608ZZ   1
016 226058-3 ENGRENAGE 18-46    JS32   1
017 253215-0 RONDELLE PLATE 8   1
018 256118-7 AXE  8   1
019 913322-8 AXE FILETE M6X14   1
020 321405-4 GUIDE             JS32   1
021 321404-6 AXE PORTE-LAME     JS32   1
022 922216-6 VIS HEX. CREUSE M5X14 <9749   1
023 346641-1   1
024 331165-0 BASE JS3200   1
025 931203-4 ECROU  M5-8   1
026 922227-1 VIS TETE HEX M5X18   1
027 922216-6 VIS HEX. CREUSE M5X14 <9749   1
028 922452-4 VIS HEX CREUSE 8X30   2
029 266340-8 VIS 4X65   2
030 454140-0 COURONNE   1
031 525869-6 INDUCTEUR JN3201   1
032 643750-0 BOUCHON DU PORTE CHARBON   2
033 191963-2 JEU DE CHARBON CB-303   1
034 814C79-1   1
035 158278-0 CARTER MOTEUR   1
036 187531-7 JEU DE POIGNEE JS3201   1

INC. 46
037 651284-9 INTERR. SGEL115CDY-6   1
038 654532-5 DOMINO   1
039 266326-2 VIS 4x18   2
040 687052-4 BARRETTE FIXATION 20mm   1
041 688172-7 PASSE-FIL   2
042 645200-1 CONDENSATEUR ANTIPARASITES   1
043 682540-6 MANCHON CABLE 9,3-90   1
044 665890-4 CABLE D'ALIMENT.  1.0-2-4.0   1
045 266326-2 VIS 4x18   5
046 187531-7 JEU DE POIGNEE JS3201   1

INC. 36
047 256255-7 AXE 3   1
A01 792287-5 COUTEAUX (SUP + INFERIEUR)   1
A02 762007-1 JEU DE CALES JS3200   1
A03 783202-0 CLE BTR 4   1
A04 ********** ****************************** *** ******************************
A05 837630-2 MOULAGE MAKPAC JN3201   1
A06 800V75-9   2
A07 800V74-1   1



VUES ECLATEES
PAGE 1

MODELE. JS3201


